EVENT: RED VS BLUE

9 HOLERS
NAME 1 2 3 45 6 7 8 9 OUT 10 11 12 13 14 15 16 17 18 Total

1 Hughes 1]1])4f(21({3]2]|3[3][0] 18] 1st $7.00
2 Tyler 1l1]2]2[3]o]|2]1|[2] 14] 2nd $6.00
3 West 1|1 2|1012]0|3]2]) 12 3rd $5.00
4 Allen 3[1]2]2]0]0]0]1]0}) 9
5 Mietz 0[{1]1]0]2]0]0]|3]1}] 8
6 Weast 0[{1]0]0)1]0]0|3|1}) 6

18 HOLERS

NAME 1 OUT 10 11 12 13 141516 17 18 IN  Total

23456789

1 Mortris 1/2|2|2|2|3|3|2|2]19]2]|3]|3]|2]|4|0]|3]|2]|3] 22| 41 | AFlightist  $7.00
2 Monroe [3[3|2|2fofafafaf2)a5]2]|3]|1]|1]1]|2]|3]|2|2] 17| 32 | AFlightand  $6.00
3| wmcGuire [3[3|o|o[3[2[2[3][1] 17 |2[3[3[1][1]ofof[2[1] 13| 30 | AFlight3rd  $5.00
4 Bevolo 3l2fafaf2|2fa|2|2] 15]o|o|2|2|1|2|2|1|2] 12| 27 | AFlightath  $4.00
5| scribner [of1f1|of2[1][2[1][2)10]2|1|2|2|2|2|2|2|1] 16] 26

6 | woelbling [1]|of1|1[ofof[2[3[o] 8 |2|2|of1|3|1|o0|2|2]13] 21

7 Buckley |0|2|3]|o]|1]|2]|1]|2]|1] 12]of2|1|1]|1]|2]|o0]2]0] 8] 20

8 Stuart 2(2[3[3[2|1]2[1][2) 18 ]|2|2|2|2|2|2|2|3|1] 18] 36 | BFlightist  $7.00
9 Jacob 2(2[3[1][2|ofof[3[2] 15]|5|1|3|of2|1|1|[3|4] 20] 35 | BFlight2nd  $6.00
10 Beal o[3[2|3[2|2|2|2a) a7 |2|a|2|a|a|2|2|3[3] 16] 33 | BFlight3rd  $5.00
11| starnes |[1|2|2|1|2[3|2|of1] 14 ]|1|3|3|2|1|2|2|2[2] 18] 32 | BFlightath  $4.00
12] Nielsen [1|2[3[2[2[3[2|of2) 17 |1|3|2|1|o0f1|2|3|1]14] 31

13 Gale 2(afaf3fafaf2fofa)12]a|3|2|2|2|1|2|2|2]17] 29

14| phillips _[ofofofof2[2[3[2[1] 10]2|1|1|4|2|1|0|4|3] 18] 28

15| schaffert [1|3|1|1|of2f2faf2] 12)1|3|2|3|1|o|1|1|1]13] 25

Chip In

Gale







